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Ex 1 A 30cm by 50cm picture has a frame surrounding it. If the frame is the same width all around, and the
total area of the frame and picture is 1836 cm?, how wide is the frame?
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Ex 2 The sum of a number ndthreetlmesttsrmprmhs— What is the number?
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Ex 3 Mr. Raoul bikes to work, while Ms. hndemnﬁmsmwrhmﬂwbugllmﬁmamfmmm J"C'! = ,2.: V’/
school. If they both leave at the same time, Ms. Anderson gets to school 12 minutes before Mr. Raoul. If Ms. 3

Anderson drives 15km/h faster than Mr. Raoul can bike, what is the speed of each of them [answer to 1
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Ex 3 Mr. Raoul bikes to work, while Ms. Andemnﬁh%mmrhhﬂﬂw live 8km away from the AL H q = ?" v’
school. If they both leave at the same time, Ms. Anderson gets to school 12 minutes before Mr. Raoul. If Ms. _?)
Anderson drives 15km/h faster than Mr. Raoul can bike, what is the speed of each of them [answer to 1

decimal place)?
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Ex 4 Mr. G and Mrs. Holman are marking PC 11 exams. Mrs. Holman can mark a class set of exams 10 minutes

Factar tham Rldr = ~om
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g M. G and brs, Halman are marking PC 11 easma. M. Holman can mark 3 class sat of exama 10 minates

fastar tham M. G ean. If they both wark tagether, thay can mark & class st in | howr, How lang does it Eake
wach of them to mark o class st of sxams 1o the nearest e
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